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It"s time for us to so0lve
the mystery of
“Picross'!
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The mystery Ties in the
numbers on the top and
the left side of the
windou,
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which together will help
you to draw the secret

picture.
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If you 501ve the puzzie
correctiy, the entire
picture will be Shown.
t's the letter P
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Here are the rules to
solving the mystery: = «
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The numbers above the
columns tell you how
many boxes you need to
chisel in the dowunuward
directiom.
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This one i a 5, 50 you
will need to chiselin 5
consecutive boxes.
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The numbers on the 1eft
of the rous tell you
how MOany bixes Yol
need to chisel in the
left=-to-right direction.
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This one is a Z and a2, 50

you will need o chiselin

Z consecutive boxes and

Z consecutive boxes, separated
by at least 1 space.
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If you do not s01ve the
Secret picture in 30
minutes, then your game
i DVer.
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If you make mistake,
then your remaining time
will be reduced.

But try not to poanic!
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You coan mark boxes that
you think should stay
clear With an “x™.
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GOOD LUCK!




